	S: Use this form when a single information collection document in			TITLE OF INFOR	MATION COLLECTIO	ON DOCUMEN	т		OMB NO.		
	puirements. The totals of the figures in cols. should be entered in itte = $13a$ (respondent is only counted once); cols. F & I = $13b$; co	em 13 of OMB-83 ls. H & K = 13c.		National Poultry Improvement Plan						0579-0007	
	(F)Total/(D)Total = (E)Average (E) I = (J)Average (F) I = (J)Average (., .		DATE PREPARED June 17, 2009						
IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNU	AL BURDEN				
					REPORTS				RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	
145.2, 145.4 (a), 145.12 (b)	Memorandum of Understanding - State		49	1.0000	49.00	0.1600	7.84			0.00	
147.21 (f), 146.4 (a), 146.11 (c)	Recordkeeping - State				0.00		0.00	1,570	20.000	31,400.00	
	Business				0.00		0.00	2,330	20.000	46,600.00	
145.12 (b), 146.14 (b), 146.44, 146.24,	Flock Selecting and Testing Report - State	VS 9-2	10,000	2.0000	20,000.00	0.1600	3,200.00			0.00	
145.12 (b), 146.14 (b), 146.44, 146.24,	Flock Selecting and Testing Report - State - Flock Test Meat Chicken Slaughter Plants	VS 9-2	68	520.0000	35,360.00	0.1600	5,657.60			0.00	
145.12 (b), 146.14 (b), 146.44, 146.24,	Flock Selecting and Testing Report - State - Flock Test Turkey Slaughter Plants	VS 9-2	20	12.0000	240.00	0.1600	38.40			0.00	
	SUBTOTAL				55,649.00		8,903.84	3,900.00		78,000.00	
	TOTAL OF ALL PAGES				164,479.00		25,681.01	3,900.00		78,000.00	
тот	AL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c				168,379.00		103,681.01				

recordkeeping requ	: Use this form when a single information collection document invitements. The totals of the figures in cols. should be entered in ite 13a (respondent is only counted once); cols. F & I = 13b; col		-1:	TITLE OF INFORMATION COLLECTION DOCUMENT National Poultry Improvement Plan						
NOTE: The colun	(F)Total/(D)Total = (E)Average (H)Total/((K)Total/(I)Total = (J)Average (H)Total/(NOTE: The columns will calculate automatically. If Col. E's response is something other tha years, list as "1/6" & decimal will display.								DATE PREPA	RED
			1						June	17, 2009
IDENTIFIC	ATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNU	AL BURDEN			
					REPORTS				RECORDS	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
146.44, 146.24,	Flock Selecting and Testing Report - State - Flock Test Egg Producers	VS 9-2	800	1.0000	800.00	0.1600	128.00			0.00
145.12 (b), 146.14 (b), 146.44, 146.24,	Flock Selecting and Testing Report - Business - Flock Test Meat Chicken Slaughter Plants	VS 9-2	102	520.0000	53,040.00	0.1600	8,486.40			0.00
145.12 (b),	Flock Selecting and Testing Report - Business - Flock Test Turkey Slaughter Plants	VS 9-2	30	12.0000	360.00	0.1600	57.60			0.00
145.12 (b), 146.14 (b), 146.44, 146.24,	Flock Selecting and Testing Report - Business - Flock Test Egg Producers	VS 9-2	1,200	1.0000	1,200.00	0.1600	192.00			0.00
	Report of Sales of Hatching Eggs, Chicks, and Poults - State	VS 9-3	7,000	2.0000	14,000.00	0.2500	3,500.00			0.00
145.23 (b) (i)	Summary of Breeding Flock, Table-Egg Layer Flocks, Meat-Type Chicken and Turkey Slaughter Plants Partcipation - State	VS 9-4	19	8.0000	152.00	4.0000	608.00			0.00
	SUBTOTAL				69,552.00		12,972.00	0		0.00

REPRODUCE LOCALLY. Include form number and date on all reproductions.

	TITLE OF INFORMATION COLLECTION DOCUMENT
recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.	National Poultry Improvement Plan
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average	

DATE PREPARED

омв NO. 0579-0007

June 17, 2009

(K)10(di/(1)10(di – (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6
years, list as "1/6" & decimal will display.

IDENTIFIC	CATION OF REPORTING OR RECORD KEEPING REQUIREMENT		ANNUAL BURDEN							
					REPORTS		RECORDS			
SECTION OF	DESCRIPTION	FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS	TOTAL HOURS	NO. OF RECORD-	ANNUAL HOURS PER	TOTAL RECORD- KEEPING HOURS
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(К)
145.23 (b) (i)	Summary of Breeding Flock, Table-Egg Layer Flocks, Meat-Type Chicken and Turkey Slaughter Plants Partcipation - Business	VS 9-4	29	8.0000	232.00	4.0000	928.00			0.00
145.33 (b) (2) (i)	Report of Hatcheries, Dealers, and Independent Flocks, Table-Egg Producers, Meat-Type Chicken and Turkey Slaughter Plants Partcipating in the NPIP - State	VS 9-5	19	4.0000	76.00	0.5000	38.00			0.00
	Business	VS 9-5	29	4.0000	116.00	0.5000	58.00			0.00
145.23, 145.33 (3) (iv)	Report of Salmonella Isolations to NPIP Official State Agencies - State	VS 9-6	60	15.0000	900.00	0.5000	450.00			0.00
	Investigation of Salmonella Isolations in Poultry - State	VS 9-7	50	1.0000	50.00	2.0000	100.00			0.00
	Flcok Inspection and Check Testing Report - State	VS 9-8	50	2.0000	100.00	0.2000	20.00			0.00
	SUBTOTAL				1,474.00		1,594.00	0		0.00

REPRODUCE LOCALLY. Include form number and date on all reproductions.

June 17, 2009

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and	TITLE OF INFORMATION COLLECTION DOCUMENT	OMB NO.
recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.	National Poultry Improvement Plan	0579-0007
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average		
(K)Total/(I)Total = (J)Average		DATE PREPARED

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT						IAL BURDEN			17,2005
				REPORTS						
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER (J)	TOTAL RECORD- KEEPING HOURS (COI. I X J) (K)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
145.12 (a)	Hatchery Inspection Form - State	VS 9-9	100	10.0000	1,000.00	0.2000	200.00			0.00
	Sentinel Birds Banded for Identification Prior to Flock Vaccination - State		50	1.0000	50.00	1.0000	50.00			0.00
	Business		50	1.0000	50.00	1.0000	50.00			0.00
145.43 (g) (3)	Request for Salmonella Serotyping - State	VS 10-3	50	110.0000	5,500.00	0.1600	880.00			0.00
	Printing and Mailing Computerized Printouts - State		2,600	12.0000	31,200.00	0.0330	1,030.00			0.00
	Appraisal and Indemnity Claim for Animals Destroyed or Materials Destroyed - State	VS 1-23	1	1.0000	1.00	0.5000	0.50			0.00
	SUBTOTAL				37,801.00		2,210.50	0		0.00

REPRODUCE	E LOCALLY. Include form number and date on all reproductions.		SUMMARY	OF INFORMATION	N COLLECTION					Page 5 of 5
recordkeeping requ	5: Use this form when a single information collection document ir uirements. The totals of the figures in cols. should be entered in it = 13a (respondent is only counted once); cols. F & I = 13b; column columns		-1:		mation collections ry Improvement P		омв NO. 0579-0007			
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (TTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1 ears, list as "1/6" & decimal will display.			., .	ge						RED
	CATION OF REPORTING OR RECORD KEEPING REQUIREMENT				A NINI	IAL BURDEN		June	17, 2009	
		-			REPORTS	ANNO	AL BORDEN		RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(К)
	Business	VS 1-23	1	1.0000	1.00	0.5000	0.50			0.
	Appraisal and Indemnity Claim for Animals Destroyed or Materials Destroyed - Continuation Sheet - State	VS 1-23 A	1	1.0000	1.00	0.0830	0.08			0.
	Business	VS 1-23 A	1	1.0000	1.00	0.0830	0.08			0.
					0.00		0.00			0
					0.00		0.00			0
					0.00		0.00			0
	SUBTOTAL				3.00		0.67	0		0.